
Exploded View Spare Parts
www.chainsawspares.com.au

65cc Post Hole Digger PBHH

PBHH-1 gear box
PBHH-2 clutch cover M16*1.5
PBHH-3 Bearing R12-2RS
PBHH-4 Gearbox upper shell
PBHH-5 pin 5*10
PBHH-6 Bearing 6905-2RS
PBHH-7 sha 7T
PBHH-8 Outer circlip 19
PBHH-9 Gear 43T
PBHH-10 Bearing 6004-2RS
PBHH-11 Output sha 8 teeth
PBHH-12 Ground Drill Gear Box Seal
PBHH-13 Lower case of gear box
PBHH-14 Screw M6*14
PBHH-15 Screw M6*40
PBHH-16 Bearing R10
PBHH-17 Gear 47T 10 tooth
PBHH-18 gasket 6.5*10.5*2
PBHH-19 Screw M6*28
PBHH-20 rubber gasket
PBHH-21 rubber pad
PBHH-22 1 le handle
PBHH-23 U-shaped plate
PBHH-24 Screw M8*20
PBHH-25 Spring pad 8
PBHH-26 Flat pad 8*18*1.5
PBHH-27 Nut M8*1.25
PBHH-28 Flat pad 6*18*1.5
PBHH-29 Screw M6*35
PBHH-30 Screw M5*35

PBHH-31 gasket 6*20*1.5
PBHH-32 right handle with switch hole
PBHH-33 Switch Assembly
PBHH-34 drill 200*80
PBHH-35 pin & clip


